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I . The following are the approximate market shares of different brands of soft drinks
during the 1990s; Coke: 40%, Pepsi: 33%, 7-Up: 10%, De Pepper: 8%, All other
brands: 7%, (A8 15 F)

() Compute the Herfindahl index for the soft drink market.

(b} Suppose that Pepsi acquired 7-Up. Compate the post-merger Herfindahl,  What
assumption did you make?

() Federal antitrust agencies would be concerned 1o see a [Henfindahl increase of the
magnitude you compute in (o) and (b), and might challenge the merger. Pepsi coaild
respond by offering a different market delimitbon, What markel definition might Pepsi
propose? Why would this change the Herfindahl?

2. In many modern industrics, the following pafterns seem to be common. Please employ
related strategic management theory to identify the factors that might explain such differences?
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(a) Standard inputs (such as a simple transisior that could be used by several electronics
manufactisrers) sre more likely to be outsourced than “tailos-made”™ inputs (such as &
circuit board designed for  single manufacturer's specific needs)

(b} Some contracts, such as contracts between Taipel city govesnment und Matra (the
French company in charge of Taipei Rapid Transi System), are extremely long with
terms spelled out in minute dewil. Others, such as betwesn consuling firms and their
clients, are short and fairly vagoe wbout the division of responsibilities.

3. In international management: (a) Explain why an industry is global, multinational,
and transnoational. How to identify them? Provide ai lenst one example for each. (b)
Explain how the HQs-Subsidiary relationship differs underlying the global stmtegy,
mulinational strategy, and transnational strategy. () I 0 company would like 1o adjust
from a glohal company to a transnational compaty, whit should it do? Specifically, how
to adjust its structure, process, and culture? (d) Dusing the adjustmenl proacess, wiin
mapor difficulties will it face? (A 17 59
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